MaRumwandlungen

(Langen- und Massenmalde)

1) Verwandle in eine mehrnamige Grole

a) 35 m = 2) 43 ke =

b) 7,04 m = m) 2502 kg =

o) 23,008 m = n) 9,001 ke =

d) 124034 m = 0) 0,011 &g =

) 0,205 m, = 1) 2400,3 ka =
1) 0,023 m = q) 15200 45 kg =
) 0,105 m = 1) 2847349 g =
h) 3461271 mm, = ») 123744 4 dag =
i) 237464 om, = 1) 5,2013 4 =

i) 98700,2 dm, = w) 0,34 =

%) 2300001 m, = ©) 1,30103 4 =

2) Verwandle in die vorgegebene Einheit

a) 5m 3om = m = om

8) 71 m 45 om = m = mm
o) 234 m 1 dm, = om

d) 3 km 70 m, = ko,

) 5 kg 17 dag = be = dog =
£) 14200 kg = 4 = b

9) 30412 kg 7 dag = b



